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2022 ARz APy g
514 7 P IS
(9 - )
A REAYH BEA R ;“Efjj; 7? )&%;

12571 4] 3,463,830 | 3,382,023

1 AEAA Ao 24 A9 THAEAG 913 10,000 | 10,000
2 2E9le) g WAL DAF BN 10,000 | 10,000
3| AR EdE T 8 o e e 40,000 | 40,000
4 2HIOBAE T2AK) (PR BT 200,000 | 200,000
5 ApFe-eE 1378 Aol &5 3472 3 43000 | 41,100
6 T ke VAP G ERE 20,000 | 20,000
7 QT35 YRS 0| 173 9] 3] NEELd T HTH 3 40,000 40,000
8 niEEel vArae)s) ADRZEU 137 5] 1,500 | 1,500
9 Bl A SE A BhEAA S ET R ES | 16260 16,260
10 A A AR A 1A 7R 5 3200 | 3200
11 AolERmFEg A 5 ARERE 5 374 30,000| 6,060
12 AT A9 77 7 93] 4000 | 4,000
13 | e S5 et Bedopiei) 2 2dra 2 5000 | 5,000
14 TR A9l FEAYS WHA R 4000 | 4,000
15 2R2 ASA AldSE) ARRHI WHA R 4000 | 4,000
16 Mg TSl (=2t 3) Sty 3] A F 4,000 4,000
17 | 7% vem) 2Aasmeds) | dwneds) 1aA s 2,000 2,000
18 T Bz Ok 53 SR AR = U 4500 | 4,099
19 WAl EA AR ORI ik Sk 9,000 | 9,000
20 | 1% eATRIAELIED | (DmFeAD G nE 15000 | 15,000
21 woRtTh 2153 wopgg 10,000 | 10,000
22 A e e sk k| (A5 1 A 3} 3] 5,000 5,000
23 | mERAYeIIRHTE 47105 o] 4 ALY o) Gk 10,000 | 10,000
24 w3 a1 FaneEI) LHA R 5000 5,000
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25 T AE AF A A 1,500 1,500
26 2= g Az 73S =7kt E AlxE 3 10,000 10,000
27 H&dssA] (Ah=el F = 3] 1,500 1,500
28 A= meddnis] FodedTTd 1FAR 4,000 4,000
29 S HEw A E AA 40,000 40,000
30 aAEe} 243 x4 ARTEAIES] Bl el 50,000 50,000
31 Zophs 23fdE A S E (2071 A 25,000 25,000
32 s deist SA A 214N EA) 15,000 15,000
33 ST S(eAEAD VAEEA T3 28,000 28,000
34 IS} A=A AR AYAR]] | RIS SIS 9] HEA 10,000 10,000
35 e} shetE) EuEF AN AAD 19,000 19,000
36 A AadEstledAniS] A3 13,100 13,100
37 RSt A Rt BIAAS kR 9,000 9,000
38 EIHTAEAL AT 2,800 2,300
39 A393] FEEstA s AT 2,600 2,600
40 wo| eARED} X|¢l =3 80,000 79,963
41 A=Eeddisl 24 (ADAL - E ot H &3] 3,000 3,000
42 Z=r ofgle] e s A4 ADE 3 3] 25,000 25,000
43 STV AP A1 ADE 3 3] 25,000 25,000
44 sERIET ShEte] (Ahasste g 7dA g Sl 20,000 20,000
45 SoFsIE AR A | AhaEstER S rd AN Bl 10,000 10,000
46 Fophks STl &9 (A& EE 7 AL 2] 10,000 10,000
47 SEEE A= IEUE] 2 | (AhE S E R AR S 7,000 7,000
48 THENEE B a5 (AP G A S 10,000 10,000
49 | e Asd 71E3A | (hE e8I E AR Sl 19,000 19,000
50 | AeEde ' AlseA 71EAE | (AhE e I B E AR 8 3,000 3,000
51 AN5E] =TV (Ah-Este B 71 3l 12,500 | 12,500
52 | -8AR] AARA| A=At =AskeiE] E3FAd T4 A6 40,000 33,900
53 | JEHREVHISAIAK SHS-PRISKER] Az E8fatd T2 20,000 | 20,000




54 AEw7d PRI T=RIFAIY e <l 3 4,560 4,560
55 AE7 7538 TxRIAK] e 753 3,950 3,950
56 Bo7d3] THHEAIY ol 7 3 5,000 5,000
57 FErAB] TR T3] 3,820 3,820
58 Y 73R8 TFHRIAY LA 343 6,500 6,500
59 IFA 93] THEIFA G A A -5-3) 3,000 3,000
60 6.25% FaAks] SEFAK 6.25% A 34 3] 5,650 5,650
61 A28 BHRFAR] Aol 6950 | 6950
62 Zaol) NHARELE D) 137 F R 2000 1,200
63 383 FRAEAT I 4 %3] 5,000 5,000
64 AAPRRIHS] ExSZIAA RAAEE=A AN A 3] A 2 7,000 7,000
65 wEAelIES] EASZIAY AN JE S LA T 5,200 5,200
66 AZPgRIARS] BAISNR] | ARSI RA A7) 3] 4,000 4,000
67 SIS EXSIIAY AepE =g ol | 3| A 3] 6,000 6,000
68 AABAEAY E T AL S AR E 4,100 4,100
69 A AR 1R AEHsIen e 15,000 15,000
70 ojglolyd ®BE21 shl3h3] o HolJ AR 5,000 5,000
71 HASKs ok A¥AY 9 HA st oty 1571 15,000 15,000
72 | s i, wgRRIE stsRs) ojQl+ 14,400 12,180
73| A e B3] 4500 | 4,420
1| wmmadsends M5 | eAddEuATAR 3500 3,500
75 | A% e e A9AR) | 2714(5% RPC, §2 RPC) | 24000 | 20,958
76 5] BN A A8A 9 14437} 180,000 | 174,733
78 SAF W £ A $2% 5000 5,000
79 AoiFe FENL 5 Aol KA T | 90,000 | 90,000
80 | AREK IS iRk ART IR AR oA TEFx 25,000 | 25,000
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au EEREL: EENESH aae | pan
B1 | APEERURAREAUR] | GDMdsololsEATA | 30000] 30,000
82 A AAPIA A (&)=t 9 43704 20,000 16,192
83 | AT URBLTE SR AR PN 5 500,000 | 500,000
84 N A SR s el Bl e AT EFHERTTAER 200,000 | 200,000
85 | ] S S A A 5 BE =] 55 10400 10400
86 AR 2 EEln] 2LAY IR T FHEATTAER 20,000 13,981
87 %ﬁi§?¥u?§}zbq%7} AT EFHERTTAER 80,000 80,000
38 IAE AN BE A T IFMAFEFZEHA & A 6,000 2,977
89 U] HEs] 7R FTHIARHEJN A =L T4 16,000 15,100
SUNNYCHOICE ORGANIC
90 | 3ol lolol SRR D 8 e 18000 | 17593
91 | SR ) TIVRI IR | MR R 9 S | 8000 6,000
92 I EELRE TRIERRE AR A AL FE 9] 274 9,000 9,000
03 SR REARN | AT 2EAEels 200,000 200,000
9 | A R ARFRIE PR | @R AU TATARS | 9000 9,000
9 4 ENI) AN | Gammm e b zael | 25000 | 25.000
96 ZIebg 2Fr 2 T ] AR TH o] &4 50,000 50,000
07 | R ohE HE bR AR | AT SAAREZAR | 25000 25000
98 o] Ze 7 Al %3] 10,000 10,000
99 | K A SR AR $9% 5 109 10000| 10000
00 | e || HEERAR A | 10000 110,00
101 2 e A el gAY 15,000 15,000
102 & A u AL I S A A3 3,000 3,000
103 | sl ek 51 oI SR ey -3 1500 4500
104 | o mERARP DRl | 2T eE s 5000 5.000
105 RIS i AL 2 &3 2,500 2,500
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AN T AHD] E315A) St AN A DT AR 10,000 10,000
U] & WA R FAAGA L HTH 2| 3] 25,000 25,000
IR SSRGS ] | (AR E P A Y] T A ] 13,000 13,000
APE=EAB N T AR S 8,000 8,000

ST I | cagnnaanga | 00| 1100
[=RleRs) Erdeiie] FEA AL FTAT I 15,000 | 15,000

=2t Jegst 18 | AT SAEALATFAT S 8,000 8,000

FEAE 3H 3 2 A NRJAEVSFFA (A F) 70,000 | 58,947
AN3] RSl | AlelEatig] IATA 53] 8,940 8,940
A 2 T8 22 Bx A 53 21,000 | 12,486
A3 HAEvEED ] E4 DA 53 8,000 7,512
Ap93] HEHE=RIAETS] &4 N ATFA 53 200,000 | 199,932
olzZaEASTIs] &4 N AFA 53 9,000 9,000
7ol = Bl =oig] =4 3ol QLA 53 6,000 5,743
A5 ZgolQAsis] =4 3ol QLA 53 18,000 17,287
A73] HEAJAYSASHE] S A 53 12,000 12,000
A d Tojs) 23 Bx IARNEATTLEZTY 10,000 9,791
FUFAS A AT 9] 87 45,000 | 44,990

SR =2} -BAAD N ATFA 53 18,900 | 18,750
WEASS] AAEd DA 53 25,000 24,999
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G INTEES

A )

A PEREE RESEP me | e
297N At 1,240,000 | 1,229,598
1 oH 0l AR iigigz: 5,000 5,000
2 M2zl 2Z8d =l (AhFESCEED 50,000 | 50,000
3 ZOHQIol & ALK A kS avpSev Rl SN el kel 10,000 10,000
4 Z2 C2 gt 2 AR 32X 8% E 30,000 20,360
5 D ¥2elgEN K = 105,000 | 105,000
6 DE HEDFEAN X DHNSLFESH fIAHL 46,000 46,000
7 DE SN 28 N | DS EXetrEEN 2 Y 200,000 | 200,000
8 M (SE S4g) SDOEA 5,000 5,000
9 DEMHEH X DEMHSH 22 2 120,000 | 120,000
10 JIS2 HOEZ T8 MY | 7SRRI CERE) 170,000 | 169,983
11 HmilEﬁié?gguH NETH =L 18,000 18,000
12 | K343l HETXIAMH EHRAE0E NETH ST 18,000 18,000
13 M7 DEZ400 Ol0HBISE) TN =2 6,000 6,000
14 | HN3 D240 BS0REILALS ks gnysEoxe] 7,000 7,000
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